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#include <stdio.h>

int main/{()

{

int array([100], n, ¢, d, swap:

printf ("EBEFEE: \n");

scanf ("3%d", &n);

printf ("EEHIA %d {EEEEFE\n", n);

for (¢ = 0; ¢ < n; c++)
scanf ("&d", '

for (¢ =0 ; ¢c < n - 1; c++)
{
for (d=0; d<n-c - 1; d++)
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swap
array|[d]
array[d+1]
}
}
}
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printf ("ERELEE  \n")
for (c = 0; ¢ < n; c++'>
printf ("sd\n", arrayl[c]);

return 0;
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public class Hello ({

public static void say(String s) {
int x = 100;
System.out.print (s+x);

}

public static void main(String([] argv) {
say ("Hello, world\n"); ‘

}

}«
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7-2 TFE K 16 bits FrEFR RV R IEREEE ?
(A) 65535 (B) 65536 (C)32767 (D)32768
7-3 THIEREE k BVFME R 20 - 44E 4 ERE(LR-4 - RIZE QR EW—IE ?
for (intk=20;k<=4;  )?
(A)k=4 (B)k4 (O)k=k-2 (D)k=-4
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(A)p=a (B)p=*a (C)*p=&a (D)p=&a
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(A)p=10 (B) *p=10 (C) &p=10 (D) %p=10
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while (i<10) i++; j++;
(A)i=10, j=10 (B) i=10, j=3 (C) i=10, j=12 (D) i=9, j=10
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